N Great Western Operating Company, LLC
GRID Location Colorado Slot Slot #12
T Field Wattenberg Well Beierle KE 26-362HC
M Installation Beierle Wellbore Beierle KE 26-362HC (PWB)
! i WELL PROFILE DATA
Point MD Inc Azi TVD North East | deg/100ft | V. Sect EaSt (feet) ->
28ep 2014 Tie on 16.20 0.00 | 0.00 16.20 0.00 0.00 0.00 0.00 -1600 -1200 -800 -400 -0 400 800 1200 1600 2000
IGRF Model [1900.0-2015.0] Dip: -29.74 deg Field: 32224.9 nT
Magnetc North s .46 deg West of Tue North KOP 4700.00 | 0.00 | 0.00 |4700.00| 0.00 0.00 0.00 0.00
GRID North is 0.49 deg East of True North
T o oo s D e o End of Build 5708.63 | 30.26 | 70.31 | 5662.39 | 87.65 | 245.00 | 3.00 | -10.49 600
End of Hold 7498.86 | 30.26 | 70.31 | 7208.72| 391.53 | 1094.38| 0.0 | -46.85
Target EP - 460 FNL, 3| 8264.82 | 90.00 | 179.59 | 7659.00 | -41.27 | 134547 | 13.00 | 441.18
& -3000 — - 400
pay T.D. & Target TD - 470 | 12623.90 | 90.00 | 179.59 | 7659.00 | -4400.24 | 1376.86 | 0.00 | 4610.62
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7 Plot reference is Beferle KE 26-362HC (PWB). . r )
Ref wellpath is Beierle KE 26-362HN (PWP#1). ™ —_
9000 T T T T T T T T T T T T T T T T T 1 |Coordinates are in feet reference Slot #12. : m 4400 o
True Vertical Depths are reference Rig Datum. | 3
-1000 0 1000 2000 3000 4000 5000 6000 7000 8000 gl_easuzed Dslpths are retfere;;:e Rig Datum. I{)
H H Ig Datum: Planne atum
scaie1em=500ft  Vertical Section (feet) -> Rig Datum to Mean Sea Level: 513350 f E/2 Sec 26, TIN, R66W - 4800 S
Azimuth 162.62 with reference 0.00 N, 0.00 E from Slot #12 Plot North is aligned to GRID North. L =




